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(Experimental Theory & Statistics) 

(For External Students)  
 

Time :  3 Hours]  [Max. Marks : 100 
 

ÍÛæ̃ Û¶ÛÛ :  (1) þùÉÛÛ×ÉÛ Ý¼Ûþäù ¸Û™öà¶ÛÛ …Ûé™öÛ¾ÛÛ× …Ûé™öÛ ¼Ûé Í¬ÛÛ¶Û ÍÛäµÛà¶Ûà ˜ÛÛéïõÍÛÛˆ¬Ûà •Û¨Û©ÛÁõà 
ïõÁõÛé. 

Instructions :  Calculation should be done minimum upto two decimal point. 

    (2) ¸ÛóÛé•ÛóÛ¾Û ÜÈÛ¶ÛÛ¶Ûä× ÍÛÛþä×ù ïéõÅÛîýÛäÅÛé¤øÁõ ÈÛÛ¸ÛÁõÈÛÛ¶Ûà ™æö¤ø ™öé. 
     Use of non-programmable simple calculator is permitted. 

    (3) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 
     Each question carries equal marks. 

 

1. ¸ÛóýÛÛé•Û¾ÛÛ× Ü¶ÛýÛ×ªÛ¨Û¶Ûà ÜÈÛÜÈÛµÛ ¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛà ïõÛé̂ ¸Û¨Û …éïõ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
 Outline the various methods of control in experiments and discuss any one of them. 

…¬ÛÈÛÛ/OR 

 ¾Û¶ÛÛéÈÛíéßÛÛÜ¶Ûïõ ¸ÛóýÛÛé•Û¶Ûà ÜÈÛÜÈÛµÛ ÈýÛÛ”ýÛÛ…Ûé …Û¸Ûà, ÍÈÛ©Û×ªÛ ¸ÛÜÁõÈÛ©ýÛÙ¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ´ùÌ¤øÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 
 Give the various definitions of Psychological experiments and discuss with examples the 

types of independent variables. 

 

2. (a) µýÛÛ¶Û …é¤øÅÛé ÉÛä× ? µýÛÛ¶Û¶ÛÛ Ü¶ÛµÛÛÙÁõïõÛé …×•Ûé¶ÛÛ ¸ÛóýÛÛé•ÛÛé¶ÛÛ ¸ÛóïõÛÁõÛé ÈÛ¨ÛÙÈÛÛé. 
  What is Attention ? Describe the types of experiments in connection with the 

determinants of attention. 

 (b) µýÛÛ¶Û ÜÈÛ˜ÛÅÛ¶Û¶ÛÛ× ïõÛÁõ¨ÛÛé ˜Û˜ÛÛë. 
  State the reasons for fluctuation of attention. 

…¬ÛÈÛÛ/OR 

  ÍÛÛÐü˜ÛýÛÙ ¸ÛóÜ©ÛÜ’õýÛÛ¶ÛÛ Ü˜ÛÜïõ©ÍÛÛ©¾Ûïõ …¶Ûé Ü¶ÛþùÛ¶ÛÛ©¾Ûïõ Š¸ÛýÛÛé•ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain in detail the clinical and diagnostic uses of associated responses. 

 

3. ïõÛé̂ ¸Û¨Û ¼Ûé ¸Ûé¤øÛ ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé : 
 Attempt any two sub-questions from the following : 

 (a) ÜÉÛ“Û¨Û ¸ÛóÜ’õýÛÛ¶ÛÛ ¾ÛÛ¸Û¶Û¶Ûà ïõÛé̂ ¸Û¨Û ¼Ûé ¸Û±ùÜ©Û…Ûé ˜Û˜ÛÛë. 
  Discuss any two methods of Learning. 
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 (b) ÜÉÛ“Û¨Û¶ÛÛ ¸ÛóïõÛÁõÛé¶Ûà ÜÈÛ•Û©Ûé ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 
  Discuss in detail the types of Learning. 

 (c) ÉÛÛÜ¼þùïõ ÜÉÛ“Û¨Û¾ÛÛ× ‘ÍÛÇ×•Û ÜÈÛÁäõ±ù …×©ÛÜÁõïèõ©Û ¸Û±ùÜ©Û’ ˜Û˜ÛÛë. 
  Discuss ‘whole versus part method’ in verbal learning. 

 (d) ÜÉÛ“Û¨Û ÍÛÛ¾Û•Ûóà¶Ûà …¬ÛÙ̧ Ûæ̈ ÛÙ©ÛÛ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the significance of Learning infrastructure. 

 

4. ïõÛé̂ ¸Û¨Û ¼Ûé ¸Ûé¤øÛ ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé : 
 Attempt any two sub-questions from the following : 

 (a) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûä× …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ïõÁõÛé, ›÷é¾ÛÛ× ÈÛ•ÛÙ ÅÛ×¼ÛÛˆ ‘5’ ¶Ûà ÐüÛéýÛ …¶Ûé ›÷é¶ÛÛé …éïõ 
ÈÛ•ÛÙ ‘30 – 34’¶ÛÛé ÐüÛéýÛ : 

  Tabulate a frequency distribution from the following scores by using an interval of 

‘5’. One of the class intervals must be of ‘30 – 34’. 

73 79 60 56 53 42 41 56 36 45 

67 35 44 76 45 61 33 37 45 39 

63 65 36 67 66 54 56 41 48 62 

49 43 52 49 57 48 46 76 62 57 

54 72 58 51 39 57 39 68 56 51 

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà ¾ÛµýÛïõ (Mean)¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 
ÈÛ•ÛÙ ÅÛ×¼ÛÛˆ …ÛÈÛèÜ«Û (f) 
55 – 59 2 

50 – 54 4 

45 – 49 7 

40 – 44 9 

35 – 39 12 

30 – 34 8 

25 – 29 7 

20 – 24 6 

15 – 19 5  

 N = 60  

  Compute mean from the following frequency distribution : 

Class Interval Frequency (f) 

55 – 59 2 

50 – 54 4 

45 – 49 7 

40 – 44 9 

35 – 39 12 

30 – 34 8 

25 – 29 7 

20 – 24 6 

15 – 19 5 

 N = 60  
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 (c) ¸ÛóÊ¶Û-4 (b)¾ÛÛ× …Û¸ÛéÅÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà ¾ÛµýÛÍ¬Û (Median)¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
  Compute Median from the frequency distribution given in Q.4 (b). 

 (d) ¸ÛóÊ¶Û-4 (b)¾ÛÛ× …Û¸ÛéÅÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¾ÛÛ¤éø Í©Û×½ÛÛÅÛé”Û þùÛéÁõÛé. 
  Draw a Histogram from the frequency distribution given in Q. 4(b). 

 

5. ïõÛé̂ ¸Û¨Û ¼Ûé ¸Ûé¤øÛ ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé : 
 Attempt any two sub-questions from the following : 

 (a) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¾ÛÛ¤éø ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û (SD) ÉÛÛéµÛÛé : 

ÈÛ•ÛÙ ÅÛ×¼ÛÛˆ …ÛÈÛèÜ«Û (f) 

60 – 64 3 

55 – 59 4 

50 – 54 6 

45 – 49 9 

40 – 44 12 

35 – 39 10 

30 – 34 8 

25 – 29 5 

20 – 24  3  

 N = 60 

  Calculate Standard Deviation (SD) from the frequency distribution given below : 

Class Interval Frequency (f) 

60 – 64 3 

55 – 59 4 

50 – 54 6 

45 – 49 9 

40 – 44 12 

35 – 39 10 

30 – 34 8 

25 – 29 5 

20 – 24  3  

 N = 60 

 (b) ¸ÛóÊ¶Û 5 (a)¾ÛÛ× …Û¸ÛéÅÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¾ÛÛ¤éø ˜Û©Ûä¬ÛÙïõ ÜÈÛ˜ÛÅÛ¶Û (QD) ÉÛÛéµÛÛé. 
  Calculate Quartile Deviation, (QD) from the frequency distribution given in                  

Q. 5(a). 

 (c) ¸ÛóÊ¶Û 5 (a)¾ÛÛ× …Û¸ÛéÅÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¾ÛÛ¤éø ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û (AD) ÉÛÛéµÛÛé. 
  Calculate Average Deviation (AD) from the frequency distribution given in                  

Q. 5(a).  
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 (d) ïõÍÛÛé¤øà X …¶Ûé ïõÍÛÛé¤øà Y Š¸ÛÁõ ÜÈÛ²Û¬Ûâ…Ûé…é ¾ÛéÇÈÛéÅÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. …Û ¸ÛóÛ¸©ÛÛ×ïõÛé 

ÈÛ˜˜Ûé Í¸ÛàýÛÁõ¾Ûé¶Û¶Ûà ’õ¾ÛÛ×ïõ ©ÛºõÛÈÛ©Û¶Ûà ÍÛÐüÍÛ×¼Û×µÛ¶Ûà ¸Û±ùÜ©Û ÈÛ¦éø ÍÛÐüÍÛ×¼Û×µÛ ÉÛÛéµÛÛé : 

    X – 60, 50, 46, 36, 25, 26, 30, 32, 35, 37 

    Y – 80, 85, 77, 62, 40, 60, 54, 50, 65, 70 

  Scores obtained by students are as given below on test X and test Y. Calculate the 

coefficient of co-relation between scores by Spearman’s Rank Different method : 

    X – 60, 50, 46, 36, 25, 26, 30, 32, 35, 37 

    Y – 80, 85, 77, 62, 40, 60, 54, 50, 65, 70. 

 

____________ 


